Examples of Consonance

Frequency Ratio 1:1
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Atot(t) = AT(w1t) + A2(w2't) ve. (wW1t)
A20 = A10 =1.0, T2/F1 = 11 =1.000000
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Frequency Ratio 2:1

A2()=A20°5In(w2*t) vs. At=A10*Sin{w1*t) A2(t)=A20*Cos(w2*t) vs. A(t)=A10*Sin(w1*)
A20 = A0 = 1.0, f2/F1 = 21 = 2.0000000 A20 = A0 =1.0,f2F1 = 21 = 2.0000000
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Atot(t) = A1(w1t) + A2(w2't) vs. (W1't)
A20 = A10 =1.0, 121 = 21 = 2.0000000
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Frequency Ratio 3:1

A2(t)=A20*5In(w2*t) vs. A(t)=A10*Sin{w1*t) A"2(t)=A20*Cos(w2*t) vs. A1(t)=A10*Sin(w1*t)
A20 = A0 = 1.0, f2/F1 = 31 = 3.0000000 A20 = A0 = 1.0, f2F1 = 31 = 3.0000000
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Atot(t) = A1(wT"t) + A2(W2*) us. (w1't)
A20 = A10 = 1.0, £2/F1 = 311 = 3.0000000
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Frequency Ratio 4:1
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Frequency Ratio 5:1

A2(0)=A20°5In(w2*t) vs., A1)=A10"Sin{w1*t) At =A20*Cos(w2*t) vs. Al(t)=A10*Sin(w1*t)
A20 = A0 =1.0, £2/F1 = 51 = 5.0000000 A20 = A0 = 1.0, F2/71 = 51 = 5.0000000
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Atotit) = A1(w1*t) + A2(w2't) ve, (Ww1t)
A20 = A0 = 1.0, f2F1 = 51 = 5.0000000
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